
CBCS/B.A./B.Sc./Hons./4th Sem./ECOACOR08T/2022 

4011 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 4th Semester Examination, 2022 

ECOACOR08T-ECONOMICS (CC8) 

INTERMEDIATE MICROECONOMICS-II 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any five questions from the following:
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is dominant strategy? 
pভাবশালী �কৗশল কােক বেল ? 

(b) Define Nash equilibrium. 
ন°াস ভারসােম°র সংjা দাও। 

(c) What is Cartel? 
কােট�ল িক ? 

(d) Why demand for input is called ‘derived demand’?
উপকরেণর চািহদােক উdত চািহদা বলা হয় �কন ? 

(e) Differentiate between firm’s demand and industry demand for inputs. 
উৎপাদেনর উপকরেণর �kেt ফােম�র চািহদা ও িশেlর চািহদার পাথ�ক° কেরা। 

(f) Give two examples of externality in consumption.
�ভােগর �kেt বািহ°কতার dিট উদাহরণ দাও। 

(g) How in a perfectly competitive market Value Marginal Product of Labour 
(VMPL) and Marginal Revenue Product of Labour (MRPL) are related? 
পূণ� pিতেযািগতার বাজাের Ëেমর pািnক উৎপাদেনর মূল° (VMPL) এবং Ëেমর pািnক আয় 
উৎপাদেনর (MRPL) এর মেধ° সmক�িট িকরকম ? 

(h) In a two-person, two commodity economy, define the contract curve for 
consumption. 
dই ব°িk, dই dব° সmn অথ�নীিতেত �ভােগর �kেt contract �রখা কােক বেল ? 

   

2. Answer any four questions from the following:
িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Explain the monopolistic and monopsonistic exploitation of labour.
Ëেমর একেচিটয়া কারবারজিনত �শাষণ ও মন প ্  সিনিsক �শাষণ-এর ধারণা dিট ব°াখ°া কেরা। 
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(b) Show that the elasticity of supply of an input governs the level of rent. 
�দখাও �যেকান উপাদােনর �যাগােনর িsিতsাপকতার উপর খাজনার পিরমাণ িনভ�র কের। 

(c) Explain Prisoner’s dilemma. 
বnীেদর dেndর ধারণািট ব°াখ°া কেরা। 

(d) Differentiate between rent and quasi-rent.
খাজনা ও আধা-খাজনার মেধ° পাথ�ক° কেরা। 

(e) Explain the concept of excess capacity of a firm under monopolistic 
competition. 
একেচিটয়া pিতেযািগতামূলক বাজাের ফােম�র উdbt kমতার ধারণািট ব°াখ°া কেরা। 

  

3. Answer any two questions from the following: 
িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) Critically examine the ‘Product exhaustion’ theorem.
‘dব° িনঃেশেষর’ তttিট সমােলাচেকর দৃিŶেকাণ �থেক পরীkা কেরা। 

(b) Explain the role of trade union to increase employment and / or wage rate in an 
imperfectly competitive market. 
একিট অপূণ�-pিতেযািগতার বাজাের Ëিমক সংঘ িকভােব িনেয়াগ এবং / অথবা মজুরীর হার বাড়ােত 
পাের, তা আেলাচনা কেরা। 

(c) Consider a duopoly market, where each firm operates zero cost. The demand 
function of the product is X = 120 – P. 
(i) Find the price and output of each firm under Cournot’s frame work. 
(ii) Find the level of price output if the two firms are involved in tacit 
collusion. 
ধরা যাক, একিট ɋেয়াপিল বাজাের উৎপাদনব°য় শূন°। বাজাের dেব°র চািহদা আেপkক হল-  
X = 120 – P. 
(i) kেন�ার মেডেল dেব°র ভারসাম° দাম ও উৎপাদেনর পিরমাণ িক হেব ? 
(ii) যিদ ফাম� dিট ‘অনুcািরত �বাঝাপড়া’ অনুসাের চেল তেব বাজােরর ভারসাম° দাম ও 

উৎপাদেনর পিরমাণ িক হেব ? 
(d) Explain the price and output determination in a model with a dominant firm and 

a competitive fringe. 
একিট অgণী বা pধান ফাম� ও অসংখ° অনুসরণকারী kd উৎপাদক �গাŸী থাকেল িকভােব দাম ও 
উৎপাদন সmিক�ত িসdাn �নওয়া হেয় থােক, তা ব°াখ°া কেরা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / 

Whatsapp to their own respective colleges on the same day / date of examination within 
1 hour after end of exam. University / College authorities will not be held responsible 
for wrong submission (at in proper address). Students are strongly advised not to submit 
multiple copies of the same answer script.  
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